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UNIVERSITY OF NORTH BENGAL

B.A. Programme 5th Semester Examination, 2020

DSE1-SOCIOLOGY
Full Marks: 60

ASSIGNMENT

The figures in the margin indicate full marks.

The question paper contains paper DSE-1A and DSE-1B.
The candidates are required to answer any one from fwo papers.
Candidates should mention it clearly on the Answer Book.

DSE-1A
(Religion and Society)
Write any three of the following within 1400 words 20x3 =60
JAHh IR 1400 <] dh AfHT BFT =127 |
@ (@ o716 @FF (Assignments) T6+1 FF FAATF 5800 *THA V]

F dHaeT ged! IR e
T IR 1400 TG g AMAES B

1. Discuss the nature and scope of sociology of religion. 20

gH B FHSTIIRA B UPHHT AR &8 B F=l BT |
1S Terered 2% @ A FEH 9
e AATSTIRGSGT UHd I SR Faf T8N |

2. Write a note on the history of Sikhism. What are its fundamental values? 20
g o9 & 3foed R g fewoh foafay | 39 Jovd Jou @ & 2
T4 403l SRR @7 @ Biwl 7741 @7 (Tifere Fercaiaef [ ¢
g g9 31 sfagaR fa9=mr T2 |

3. Write a note on the emergence of Islam in India. How would you differentiate 20
Shariah from the western system of law?

IRA ¥ S¥IM &9 & g R ol ford | aMd S &1 uf¥ed yorell |
YRIAT DI DY AT BNl ?

ORCS TN 4G Terifer evm @I Bl @191 SRt wiETeE (@ [Fei
*NRRZE AT FAE 9

ARTHAT ST 9¥h] IeHaaR  [ademT THeR| | BIFADI TRl yorelEre
IRITAE B T g8, ARl e |
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Discuss the reasons behind the spread of Christianity in tribal India.

YRT H eI 99T § 3918 ¢F & YR & HRON I adar B |
S SR IS Al R FiFerf SEwa F91)
ARAD] AT FHATGTH] SHTg D! JARST HRUEHD] a0l THa |

Write a note on the history of communalism in India.
IRA H USRS & gier R U feuofl forfy |
OIS AremIiiFe 2foRItR €77 @b biFl 141

ARTHT TR feMaR f[damT a9 |

What is secularism? Discuss the constitutional provisions for making India a
secular society.

THRULTAT T & ? YRT BT gHRUST TIS 9919 & {70 Haenfae graem=i
PY T P |

AHACTFOl FICF A 9 SIOIAE LHNAF TG T (Ol CFeg ARRAIE
Ry Sicama $491

TAFRUET Aol b gfe® ? ARAAlR  GHFRUE Q¥ g9rSd  derie

JTaeTE%ad] ael e |

DSE-1B
(Marriage, Family and Kinship)

Write any three of the following within 1400 words 20x3 =

JAHh IR 1400 <] doh AfHT BFT =127 |
@ (@ o715 &FF (Assignments) T6+1 FF FAATF d5800 *THA V]
TS IR 1400 T RIS
Define marriage. Discuss different forms of marriage prevalent in India.
‘faare’ &1 yRWINT &Y | AR H gaferd fdare & fafv=T wul &1 ==l & |
fRAIER k@l e | SiRe 2bfere [ifen w@ed R 73 wicsa 341
g’ @1 g o] IRaw yaferd faareer fafdy yeRews! ==t T2 |

What is family? Discuss types of family found in India.
IRIR’ T & ? YRA § TN ST Tl IRAR & YHRI BT ] B |
AT P 0T 2 OO AR AFRCOR A T4

IRAR AT & 38 ? YRAA] Bid IHRGI IRIR Ug=8 ? [AWRYds a=bi
‘lﬂg |
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Write a note on the changing functions of family.

IRIR & gRIdTIN BRI IR femoh forfRau |
ARG 2T SN 2/ 9 Bl @721
gRaR®! aRadTeiier Frigwar fadamr T4a |

Define Kinship. Discuss about biological and social Kinship.

AdER B gRAT forfgy | Sfde iR amifsie et o =i ax |
SRIRTOTE FREE WG | T 8 AIErs ST F5{CF SCatival <11
AERY DI IRATYT oIEJa iy | Sifdd I FHEIfoie AdaRIe! a4l T8 |

Discuss Edmund Leach’s Theory of filiation.

TSHS offg & daMd (Thfere™) & fgia & adar o |
RO QTS #15-97 *1<) ©Gb SAED F1

TSHSforad] A= ®I (Thfelud) &1 Rigr<ar |HleT a9 |

Explain bilateral descent with suitable examples.

QUG ITeRY & A1 fgueli aermgespd &1 o= o |
TR TrizzeiTz el I=iaEl i 1)

HoId IaTERUEs QU fgueli demgsmaan faa=qr a9 |
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